2 ESCHAL HESMH|A TF AE 2

| —_ |
(BH 8
o 4 =13 =2 %7} 0| =3 A 7_“ H7|-A-|| St 7_“
SEER O (HW) = 144,300,000 144,300,000 14,430,000 158,730,000
AATEQON(SW) = 47,500,000 47,500,000 4,750,000 52,250,000
2T EQ0(SW) 7H 134,911,070 6,745,550 | 141,656,620 | 14,165,660 | 155,822,280
z A 326,711,070 6,745,550 | 333,456,620 | 33,345,660 | 366,802,000




= o <L C O_" O.I
A E W 9 A (GHER
AEXAIZA AEILA
=49 = =
A1 A2 A X3 Hi kA AL = =

E5-2650v4, 2.3GHz

DBAIH 2P/2x10C, 64GB . 1 12,415,000 14,733,500 14,733,500 12,000,000 | 12,000,000 12,000,000
600GB«*5, DVD, 3Y PS, OS
E5-2640v4, 2.4GHz

WASA H 1P/8C, 32GB Al 1 8,554,000 9,829,920 9,829,920 8,500,000 8,500,000 8,500,000
300GB*5, DVD, 3Y PS, OS
E5-2640v3, 2.4GHz

WEBA H 1P/6C, 32GB . 2 7,670,000 8,020,920 8,020,920 7,500,000 7,500,000 15,000,000
300GB*2, DVD, 3Y PS, OS
E5-2620v3, 2.4GHz

BH O A HH 1P/6C, 32GB Al 1 7,670,000 8,020,920 8,020,920 7,500,000 7,500,000 7,500,000
300GB=*2, DVD, 3Y PS, OS
E5-2609 v3 1.9GHz

AECIX B6TB 12G SAS 7.2K*4, 3Y PS . 1 9,100,000 11,608,000 11,608,000 9,100,000 9,100,000

Ed 420 0le == Al 1 5,918,900 6,214,850 6,214,850 5,700,000 5,700,000 5,700,000
- 17" LCOZLIE, KVWMARIXI, UPS & X & - T e e o e e
s 4Gbps0l &, JI& 500CPS (=0 2,000 CPS)
- 2t= : J|2 100Mbps (ZICH 3.6 Gbps)
AL Al

L4 A2IX ~oi%) 22 : 128Gops. F 0K SAAE : 12M Al 1 21,000,000 | 25,000,000 25,000,000 21,000,000 21,000,000
Intel Quad—core CPU, BI22| 6GB 0| &
ZE HESZA L 2LIHE 2+ 2x 10/100/1000 RJ-45

TAP &l Propagation Delay : 100Mbps - 1800ns / 1Gbps - 730ns Al 1 2,000,000 2,100,000 2,100,000 2,000,000 2,000,000
KC o1& M3




4Gbps2, Hardware 2 M& 2U Rack Type

Intel Xeon Quad Core 3.5 GHz, Memory 16GB
SSD 128GB, HDD 1TBOI&(0OS2t LogEel),

NIC 2port SFP 0|4F, 10/100/1000 copper * 4 port
CCOIE(EAL4 E3), GS2E, EMC S5 HE
2L HAEL 25 2E(CIS-CC v3) & X

36,500,000

0%
tol
JE

CPU : Intel Quad core 1.7GHz 0] 4,

Main Memory 4GB, CF Memory 4GB 0|4t HDD 1TB 0l &
NIC : 10/100/1000 Base-T 6Port, 1000Base—-X 4Port
=2I)IEE2& CCAUS EAL4 Ol EISHE

HE 0SI|8te H/W 2 HE M3

18,500,000

oo
oo
s

S=, o3& = O =4
49 oF 10~11kW, e 2F BkW, Jt& 4L/h
FR EF 83|, 2wl
S H=AL ZERHS

DY, A EE Ot FA(HE A = HE)
ul

8,500,000

H (RIPEXIA R

144,300,000




AEXAIS AEIHA
2y 7 2 ool | 22
AN A2 I3 =9 =M
1 Socket x 6 Core J|&
SIIBCIS(GSeIE) AT ERIN
HTTP 1.1 XI&
et SAE X
WEB S¢& Process 24! (Multi threading) = 2 3,500,000 4,400,000 4,500,000 3,500,000 7,000,000
Cts Dynamic contents X &
SSL, HTTPS, X.509 S EES2C2IHHI0IA M3
Multi Node Load balancing, Multi Node Fail over J|SXI&
WAS2F HZAl 23t port 2LE gl= o2& K&
1 Socket * 6 Core J|&
=2IIBQIE(GS2UE) AZER
J2EE 1.4014 XI&
Load balancing, Multi Fail Over
Non-HTTP Request Ol CHSF Ml XI&
HIXLY Java Thread AHs 2ULIEE, AFM2X & XS UM (Auto
WAS Restart) )15 X2 = 1 8,000,000 8,500,000 9,000,000 8,000,000 8,000,000
Crst TeldHold 225 XA
2ot Z& L ZHO0 Fail over I|s
XA S8 HIOIEHIOlA & Non—-XA S8t HIOIEIHIOIA AHOIOIA "2—
Phase Commit(2PC)" £ &
TbwC(Transparent Backward Connection) Pooling XI-&
Multi-Process, Multi-thread = X[ &
CHE & Table Access Al & X2l Jls M=
CteFst Procedure, Package Jls M3
HOIE 2482 I8 TUH2st 24 &4 M3
22 HOoIEHolA 822 <8 DB Link Y 24 EHMA(2PC) Jls M
SE8X0l 32 A2E st 2240 FHG Jls W3
=
DBMS |32 sql 921 & 0DBO.JORG = Ha olE Holx X2 = | 9,000,000 10,000,000 | 11,000,000 | 9,000,000 9,000,000
2ct01, 2ol giel/= 5 CHyst tel 2 532 J|s M3
Unix,Linux,Windows& Ct2&t0SI| 8t CPU,
corectOl&A ME
SR LA JIB Active-Active 0| &3t M3
CteFst IHEIA 'Y (Range, List, Hash, Composite S) M3
=83 253 LN2IS(SEED, ARIA) HIZ




Backup & Replication Server
VM Backup & £3JIs XI& =
Vmware vSphere 2 MS Hyper-V JhAr 812 |2 = 1 2,500,000 2,500,000 2,700,000 2,500,000 2,500,000
Ol0IXI 218t VM =HI, Cloud HZ sH XI&
Backup SW
Backup & Replication Agent (1Yr) = 4 800,000 850,000 850,000 800,000 3,200,000
ISR BEZE dS2= EM
TTAGS oI5 &S NS
DB S35t 23 2= 2IE(FPE, OPE, J|&2| A CC EAL3+) S ME
ASSH/E MO /2AL SEEoH XA
SHOIE2IS (B3] J18t) 2S3 LAl ALE6IH =53 9| 0158 253t
X&
Il 2elMH s K&
2535 I ey Y =7 X
Sor 2|2t I &2kt At =2el
Crst mUHel 2& 253 £els X
* ARIA 128/256, SEED, TDES, AES 128/256, SHA2 &
_ -, |AHHlA23H 255 X2

oS5 =

2S5 Initialization Vector 24! ot 5 st X2 = 1 17,800,000 19,000,000 20,000,000 17,800,000 17,800,000
S 2dSs Al 22 48 XA
222535 XA (» 82 U0l 2225s XA )
2SS CIOIE O CHSH OIS A A T3 (LR, HA M)
e 2d=253 45 (FLUHS 1000 2HA HAE 20 B2 100x 4 2)
ZYE LS I MES SE 2ot 235
2H=)23 WS = H0f LYMAl A2 OOIEHZ IS 82 Jdts
H22 OIoIE 22 2535 XY (Migration )
A=2535 I IS ¢ Jls
- AR 253 OI0oIE &20 CHst 100% =2

2 H (2IEXIA " 2l) 47,500,000




i (o) HE
AT ESof 74 EH
[SWALY CH7Id 710|E 7| s A" M 8]
58 M3
2s X ZHO|H(HASHE) 7|5 YN HE
B U gEEdE 2l
&2 =2|mt Y (ILF) 11 75 82.5
QA Y (EIF) 1 5.4 5.4
QA (F7hH AMH, ED 24 4.0 96.0
QIE=3 (EO) 4 5.2 20.8
QEx3| (EQ) 30 39 117.0
* 2o SWrHH REE J|ls HE
3758+ 3217
HEY MY
1.4 2d 3.0 B M
I 2HA% | 0.846 | 7 Aof 2HA% HI&
Assembly, 7| | Of 19
2. ofZ2|Ao]d 8 2 H C, C++, JAVA, C# 12 10.0%
o{Ez|Ao|MgH BHHEAS H| 2 COBOL,PL/1,PASCAL 1
EEVIEED .09 Delphi,HTML,PB,SQL
o 1/\| 8 1 100.0% elphi sQ 0 90.0%
nst7|=8 12 VB,XML,JSP
HE[O|C|O]& 13 EXCEL,Screen painter 0.6
ANsBEE 17 0.840 100.0%
NEN-=TE=1 17
SAH & 19 4 ZEXN QU EMEH
SEN & 2 BEY Q4 e HEA S
N EREES 2.2 2K 2| 1
1.000 100.0% Ms 0
Az 1
LIS AIO|E 0
5 g8 2 1.050
HYY A}
1 7j@ 7} A
- = BHHEAS
cHA| 7|s™¥sg eIt ZI7|1s8¥+ Tz o 2101 == =
2N 98,648 28,205,280
| 35,628,008
Efl 124,609 3217 0.846 1.000 1.050
I 166,145 S 39,903,289
Al 129,801 ’ 31,174,497
SHA| 519,203 134,911,070
3 ey
Lol 2
AEI|E 7t HEZ(%) =9
JH-R& 7Ll 25%0| LY 134,911,070 5% 6,745,550
2. AT EQfof 71'EH| FA
TN 7t ™ AH| olg A
134,911,070 6,745,550 141,656,620
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